30.

31.

A child while playing with the flip book was amazed to see that when its

pages are turned in quick succession the images appear to be in motion.
(i) Which principle is responsible for the above observation. Define it.

(i1)) Mention any one area where this principle is used. (3)

& oo o9 9% 9 dad 999 I8 J@Hl Veddiehd @ T fh 9
sqoh U4 @Rd oA § Toid WA © dd Sfedl fgaE feeri dt 7

(F) ST FIciehd o faw 9 o fogid fer 87 38 gfitwfig o)

(@) Tl q & *1 Sco@ w W@l 36 fugid &1 SwEm few S R

Identify and differentiate between the methods of reproduction shown in

given diagrams (a) and (b). 3)

fen MO SRE (a) AR (b) F TEEH SR W b)

(a)

(b)
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Alternative question for visually impaired students in lieu of Q. 31

32.

In the context of reproduction of species state the main difference between
fission and budding. Also give one example from each.

U W@ 31 % WM W gfesiya el o fAu dwfeuw wew

gSTfaal oF woiA o "ol o forded iR Taifia o e ger i sl g

T TH-Tsh S o i)

OR ( 31ar)
List any three changes that tadpole undergoes to develop into a frog.
frdt d Uil 1 geh s fges wiemm @ deuid, Hedh ok ®9 W
fawfad s €

Height
T P R Adulthnnd
A - 0ld
. / \ -
i 3 —
0 3 11 18 65 - e
(a) From the human growth curve graph provided, (3)

(i) Identify phase Q and R
(i1)) Mention the age for onset of puberty.

(b) State any one factor which influences growth in phase R.
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Alternative question for visually impaired students in lieu of Q. 32

33.

(a) Differentiate between autosomes and chromosomes.

(b) How is the sex of a child determined ?

Height
P R Adulthnnd
; __Old
T . / \ -
0 3 11 18 65 =~ ~&e

(a) WM fRu U wHe fowm 9% w4,
(i) = Q IR R H TedH|
(i) de H YEIM H ST 1 Sea@ B
(b) T Tk RO =@ S =X R W gEfd l geifad i 2

U9 WEAT 32 o WM W gfesniya sEl o fau dwfeus woa
() SAETE IR G HHEH o S Al i
(@) &= @1 fan 9 fuifa fe S @2

Ram visited a jewelry store to buy a birthday gift for his sister and chose
a silver chain. He was taken aback by its price. The shopkeeper explained
that the chain was not made of pure silver but was instead aluminium
coated with silver.

(1) Define the scientific process used here and mention its any one
advantage.

(i1)) Draw a well labeled diagram to show the process. 3)
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34.

Alternative question for visually impaired students in lieu of

Q. 33 (ii)

Name the cathode, anode and electrolyte used in the process
Tq A9 96 o fau SHfd &1 IWR @led o faq ©% Ted &1 oM
W T SR UH WA H AT G T8 TR a9 omfqd onl SRR

3 g for =9 Ug WG @ T@ a o, afew =i & @y Teptee afta
of|

(%) =8 9o S YohH 1 gRwfod HIfST qon s9e fre wh @y
w1 Iee@ HiTd|

(@) uferan 1 <A o faU T =81 @@ 9 9 f&a T e "ifeu)
UPT W& 33 (ii) % WM W giearfa sE o AU dwfeue woa
gferar ® SUEN fRT M Al hellg, TS 3R SoieRicge w1 M €did|

Section-D (@38-9)
(Q. No. 34 to 36 are long answer questions)
(a) Classify energy resources on the basis of their availability and
occurrence.
(b) Differentiate between the resources on the basis of their availability.

(¢) Give one example for each of the resources. (5)

(%) ol GEEA i STH] STARAN AN TS o SMUR W ofiehd il

(@) TUAl o o" Skl STASIAl oh SER W 3Tdl i
() Y% 9UE o fau Ts S i)

OR ( 31¥ar)
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35.

(a) List different varieties of coal along with its percentage of carbon

content in them.

(b) State the meaning of ‘petra’ and ‘oleun’ in the word petroleum.

(%) wEd &t fafgs fe= &1 §= 379 wed a9t o gfova |fed
Yeflas

(@) Ueifermd v | ‘Yo’ SR ‘enfermw’ w1 e A

Rishi, was thrilled to observe a rainbow after a rain shower. He had
never observed a rainbow earlier. He observed beautiful pattern of seven

colours in the rainbow.

(a) Which phenomenon of light is responsible for the formation of

rainbow ?
(b) When do we see a rainbow ?
(¢) How is it formed ?

(d) Name the band of seven colours observed in the rainbow. (5)

FfH, A FT AW & qR IFUAT @R TS & T IS Ted FA
XYY S <@ o1l SEH IRUAY W Uk G TN % g Ued 1 Sraeien
EXRI

(%) TH 1 HiA S TS SEHAN b (W0 o fou SRR @2
(@) B9 XYY e @A @2

() TE HY T 7?2

(9) T3Uq9 H 3@ MU W@ Nk 9T H AW SRy

OR ( 3¥ar)
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36.

Two students X and Y are using one lens each to observe the letters on
a piece of paper. Student X observed bigger and erect letters whereas to

student Y, the letters appeared smaller and erect, through the lens.
On the basis of above information answer the following questions :
(a) Which type of lenses are being used by students X and Y each ?

(b) What is the nature of the image formed by the lenses used by student
Xand Y ?

(¢) Draw the respective ray diagrams to show the image formation by

the lens used by student X and Y for the above situation.

A ok e ¥ R BH X SR Y N o Uh Ihe W SRl Wl S@H
% fq TH-TH " ® STEN e ® R

SWaH TSN & MHR W fefafed v & S -

(%) B X AR Y I9% 3R 4 &R o o9 &1 W fHa o1 wie?

(@) 37 X AR Y g W <" @ ot 3fa &1 wepfa w22

(M) W feofd & faw =& X 3R Y 570 STEW feu U dw gR o E
T ofa & fgam & fau gefua fewor ema o=

(a) Give any three differences between the Cells in slide of onion peel
with that of cells in slide of cheek cells. (5)

(b) Fill the given spaces (i) and (ii) and explain the relation between all

the levels of organisation in an organism.

Levels | Cell (1) An organ (i1) An

organism

OR
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(a) Give the terms associated with the following parts of a cell : (5)
(i) Boundary of a Nucleus
(i1)) Protoplasm of a Nucleus
(iii) Ground substance for all cell activities
(iv) Thread like network in nucleus.

(b) Differentiate Amoeba from an Earthworm. (2 points)

(c) Nerve cell has a long fibre like structure. Give reason.

(a) TS o focieh &1 WiEe 1 SIRMERST 3R M &1 FIRERET &
TES & o9 g dF 3T ad|

(b) T W WA () IR (i) W AR fHd Shg § G187 o gdft W
& dF ey TR i

W ISR G) T (ii) EiE]

AT
(a) ¥a & Fafafea 9 9 g2 1 ffsm-
(i) s T EH
(i) fYE w1 Az
(i) 9t wiftrrr Tfafafuet o faw ST =
(iv) fas ® um SEr Aeddh
(b) i SR ShEy ¥ q @ Fdrd]

(c) dfrRT Iyt o o ¥ S G B ®1 R i)
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Section-E (@2-T)

(Question number 37 to 39 are case study based questions and
contain five sub parts each. You are expected to answer any four
sub parts in these questions).

(TS W& 37 ¥ 39 W WIS ARd UIT § X Ud® ¥ Ui SU-"m
21 MU 3T UgAl H Tl oI SU-WM ot WX 29 ki AT ki STt &1)

37.

Reena took a transparent plastic measuring cylinder, 20 ¢cm long and
having a diameter of 6 cm. She made two tiny holes of equal sizes in the
cylinder at 4 cm (hole A) and 10 cm (hole B) marks respectively, one
exactly above the other. After filling the cylinder with water, she observed
the stream of water coming out from these two holes. (4)

(a) From which hole, water will travel farther from the cylinder ? Give
reason.

(b) Which property of liquid pressure is responsible for Reena’s
observation ? Mention one more property of liquid on which liquid
pressure depends.

(c) If water is replaced by oil in the same cylinder, will the stream of oil
from hole A go as farther as in case of water ? Give reason.

(d) If both the holes are made at the same horizontal level, how would
her observation change ?

(e) If the same activity is conducted with a plastic measuring cylinder
which is 20 ecm long and having diameter of 12 ¢cm and filled with
same amount of water. How will the liquid pressure change at bottom
of cylinder ? Give reason.

7 4 Ut uReell wifies q9e aren faeier fomn, so20 9. of&r &K 6
Y. A w1 onl A faoiel § HHA MeR o I B B HU: 4 AN
(8% A) &R 10 ¥ (3% B) & fIM W AT, TH-W & Ik TN
fociel & Ut ¥ 9 o 9% 39 <@ TR 39 I VI W U BT N
e @ R

(%) fow B3 9, ot fodier ¥ R Swm? &Ro i)

(@) 1 & sEcw & fou W o€ &1 A @ O fFEIR 2?2 59
® ThH SR O TaEy e W gd g AR @ 2l
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(M) afe 3 faeier § U 1 dd W Wed feaw S @, @ | BT A
¥ dd HT UM S | SR S @ T OuEr oF Ame ®l wRo
IS

(u) e I BT wHA AfdS TR W TAN T T IHERT AR ohd
I ?

(&) Ik =@ nfafafy e wifies oo" o faeier & @ &1 S @
S 20 . oo 2 AR fgewr = 12 9. © R U & 9ue
el ¥ 90 2 foeiel % 9 W g9 <@ ohd Seem? hRu i)

38. The given graph shows the fuel efficiency of various fuels. Analyse it

carefully and answer the questions that follows : (4)
A

50000
45000
40000
35000
30000

25000
20000
15000
10000
5000
0 N
X Y Z
Fuel ——

Calorific Value (kJ/Kg)

(a) Arrange the fuels depicted in the graph in decreasing order of their
efficiency.

(b) Why have you arranged a particular fuel at the top level of the
series of descending order in the above question ?

(c) Mention the fuel whose burning would result in releasing largest

number of harmful pollutants. Why ?
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Calorific Value (kJ/Kg)

(d) Enlist any one consequence of the fuel mentioned in part (c) on the
environment.

(e) How much quantity of fuel Z is required to produce 90,000 kilo joules
of heat energy ?

fean T R fafe= oAl 1 oF <ern <@ €)1 THeRT WeHHIgEE favers
R IR feafafed we & s -

A
50000
45000
40000
35000
30000
25000
20000
15000

10000
5000

X Y /
Fuel —

(%) U H I TT oA ] IThl &l o ] ohH U oHAfEqd il

(@) o9 ST J94 H fordl fouie $um &l STae! ohH &1 g@an o 30N
T W F oHerted fear ©?

() 39 TUA &1 Soo@ HL f9eh o o Hed 31y 9@l | e
YSuH IcdfSia BNl a7

(7)) 9 () ¥ 3Ifcafad FuF o qFieRe W U 9 fhdt e aiony
H FHES B

(¥) 90,000 fFell S oA et I W oh faw o Z &1 fomaet @m0
CIEEDEE )
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Alternative question for visually impaired students in lieu of
Q. No. 38

In the following table calorific value of three fuels A, B and C is given.
Observe the given data carefully and answer the questions that follows:

Name of fuel Calorific value (kJ/Kg)
A 25000 kJ/Kg
B 40000 kJ/Kg
C 5000 kJ/Kg

(a) Identify the fuel mentioned above that tend to burn inefficiently.
(b) Arrange the given fuels in increasing order of their efficiency.

(c) Write a relationship between calorific value and total heat energy
produced by a fuel.

(d) Why are gaseous fuels considered the best ? Give any one reason.

(e) Mention one example each of a solid and a liquid fuel.
U W& 38 % WM W gfeafa sEl & fau dwfeas ww

frefafed aifererr o 9 o9 A, B 3R C &1 vt wF fean 21 fgu
T SRSl eAM ¥ W@ R frefafaa weel o S <-

g T A HAl AF (ShS/fRL)
A 25000 TS/ femm.
B 40000 fRarsIa/fomm.
C 5000 Teratrs[ar/fenTm.

(F) W SfeafEgd o #1 TEIH H S MFIA ®I F okl 2

(@) TR T oAl I ITh! AT o d@d hH H HARAd H

(M) fRd oM gU Scafed held WH SR el SOAT Sl o e e
|

() T S¥9 @ gataw # WM Sl 22 e Uk RRU FdiEd|

(T) 39 TH WA U o Th-Udh SSEW &H Iodd il
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39. Kiran went to attend the birthday party of her friend during summer
vacation, where she had momos, pizza and pasta. After some time she
started vomiting, had nausea, dehydration and abdominal pain. She was
given water and ORS by her friend and was advised to take rest. Later
on, it was found that food in the party was not preserved and handled
properly due to which Kiran got sick. (4)

(a) Suggest a disease due to which Kiran got sick.

(b) Write any two symptoms of this disease.

(c) State the reason for giving ORS and water to Kiran by her friend.
(d) “Food preservation is important in our daily life.” Give reason.

(e) Milk is heated to about 70 degree celsius for 15 to 30 seconds and
chilled suddenly. This milk can be used directly. Identify this process.

i ) gfeeal § R oA S &t ade uel § wnfue wR W oft, i
3T T, fioe SR U W $w R AR SH Scdl, Haol, Fsieliehio

AR U2 | T2 BN o IHH S A IH UM SR SAReIREH e o SNm
FE H g | 9 H, Ig g T R Ut ¥ AieH & 9y ek S
T T W T o, SEeh wrer few §mR g Rl

(%) HlE T W dasy fF9eh ®Ro fFor fiar g:|

(@) 39 W & wE q awv fafew

(M feor H S Well g SeNTE SR W 3 F FROT @
(%) ‘@ e gER 3 Sfed # deequl 217 SW ST Rl SRt

(¥) 39 &l 15 9 30 Hehe o fau aam 70 feult dfcoss a& ™ foma
ST € SR M I fEA S ¥ T qM w1 WY ST R
ST Hehdl B 39 UfeRdl Wl YgEH|
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